EARAROBREBRT —5 XN—ZXBISH—F

2023828158 (K) 3OEEs2H

N C3— BSR4 E

\(9&1&1 n ‘I%EH?’JFQ] | & 1000 =

[AE%] 1 7% :500,000 F . 27&:200,000 )  33%&:125000M  43%&:75,000H  53&:50,000 9

SR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
< 6 | E#ERl= 1:32.8 6-6-1-1 [39.1| — 3 459 | EEES (EH)
1 4| RARIVRA VS — # 56.0 =) @y | @0 Jr—2bEevay
R:ALVYITSwoEl B:r—I—k XKD frixae
= —p~ ,m > B EBELSR :34. -2-2- . — atgim (f@
2lalo|57vw Ly Aot | v | e o = | e
R:iTJUA—=Y #:NUTFLY K Bl &
—= we Kii—& : -8-9- - WOE= (Fafs
IR s 48 zm 1.(31:%.2 8-8-9-8 | 40.1 9 ?(1);1 ’EEEE;'%( )
RU—FHISHY B:I4TbT—)L EKT 7 — L
—n v~ P AR : -3-6- - =Bz (BEM)
45| 5| FIWTIY £ 8 to 1.(31:;.4 3-3-6-4 | 40.6 7 21_43 /M%%ic
RVYRUIURIR B:IvRAMIa—A #HEI77—LA
vy 8 | KHEH 1:34.5 4-3-7-3 | 40.7| - 6 501 | WOHE (k)
5 3| O4VIL7Tx7 701 %0 (3/4) @ | @ J P NG
RixAIZI7—R B:O—=ILRFA75 (/) #B81-RL—yavEEI7
s 4 | EE 1:34.5 8-9-5-6 |40.4| — 8 W1 | BERE (EB)
R:VEWDA— B:Ta—Fv—9AL KRERUZ
4 4 | BERHT 1:34.9 10-10-10-9 | 40.4 | — 5 438 | EEFI— (FEkR)
7|8[10] A ¥ 5.0 @172 (o | @
R:IJUIA9—2 B:7—h4TE=Y [FEleske]
5 o o TR : -7-8- - RFIEE (BH)
gl7l 7 20— 3—)L R 4t 6 U 1.(335).4 7-7-8-9 | 41.3 4 (4_349) e
R:T—IVRY YT B:S—ILHA R #HE8T7—LA
3~ = 5 | LE#EX 1:35.5 1-1-3-5 [ 42.2| - 10 | 497 | EEHES (BEE)
EH 2| TAYYHERAS " 0 ) Gy | @ Fr—2hevay
RNT BI-yITUTHY SIERUS
S s 4 | JNBEE— 1:35.8 4-3-3-6 | 4.1 — 2 45 | HFERE (BH)
1017|837 xIb 54.0 (1172 @) | SHEE
RiAAYIDR—F— B:AAX/NITX AR Eig
@ 11— —BERIEI
13—7+— 2,9,5,(3,8),4,7,(1,6),10
20— — 2,9,(3,5,8),4,7,1,6,10
IT=5r= 4,9,(2,8),6,5,3,7,1,10
430—3— |4,9,3,5,2,(6,8).1,(7,10)
0 ILRE
BB 4 1,4104 JA R 4-9 3004 & 4-8 520 3ER 1-4-9 4,720
B B 4 210M4 1-4 4,390 5 & 4-9 560M4 3Es 4-9-1 53,560
9 110/ 1-9 1,230 oS- 1 4-9 3,120
1 540M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




